Math 115
Fall 2018

Lecture 5

?az%bZEB@ ?

October 29, 2018

twew own Ch.2:

0 %"."‘\"\‘?'61 R -4) +2x 4% / O0+4

@ Evaluate X+

xX=0 , X=-4, amd Xx=%.

@ S\‘m?\i ‘-\6 E

vl

-3%x" —I5X @1 6%’ - l%x@/;%w’xa
A~ 2ax = (%= 334

Vil

:i%
=2% 7%/*?/7(%26( :@ -3

~3 (& +5x—%) +6(1*-3x -1)-2X




October 29, 2018

Solve , Place
Nag

oov Ftval answer tn G Solutiow

2X=-\\AT]
2)(——10

o) 2x — 1\ = -\

X\

b)ax 41 = -2% —4%

2 St

Wx 42X =- 4% —12

6X=-60
A | 5 x="5 ) x=—10
<) S X d—qf;—/k*z 3
¥ LCD;\'Z, . . )ZZ - gL—\ol‘
.I< o ,_\__/ . X.\, i
X2 = N o )Z/’Z & X:é\?_
= (3
X -5 = 6Xx x\oﬁ - X \é X=6.5 Ezj
QX — X =043 [9‘151
d) % ( 2x+ 1) -5% +5 -3Xx=9

~¥¥% -4 --SX+4O5
—-%X 45X =5t

@) L 2 X 42
) o

Cross— Mv \’rc?\\s
2 (3x 2)=5(xr)
6x-4 =56Xx «I10
6x —5X =10+

21%3

§)4 (x2)-2(3420)= 14
YA —g — 6=V =14
1y =\4
Salse

¢

No Solutiow

B e ey




October 29, 2018

when we have awn QCV\)Q‘\’\'O\,\ WYy morve
Than  owe \lox\'u\o\e/ we have & Sovmulew,
> A bh [—\:7—((‘2
ﬂ:\.—\l\] ) ﬂ:% ) = a

P-2La2wW  P=4S P-aswiC , (=7

>x A2W =6, 2x —5Y =15, Lx-3Yy=1

Sove. A=W Sor W.

XSO\O\*Q W. (—\ = LW
Divide \06 L

So\\lQ SO( L (P: 8@
-~ —

130\03‘Q L P—Z\[\) - 2L




October 29, 2018

Sole Sov X @DJ‘}B ¢

5(‘3 - —2%X +«6
3 -2 6
2 \Z) 3 X % 3
2 ch.3
Va = 3K \_?( S\o?&-ln‘r

Fovm

So\\lQ Sof ‘g/wr{%e ANSWRY 1, a;w\ X4 H QO,M,
@O—"& -<S.
4 a;ix-&
_ < A
-4y = X %
-4 -5 <
—A - X YV —
M - -y
Use Lad to <lear Svackons, thun Solve v
4o X 8 Gy -20
9 5
Ld- 20 1Y = X 1+ 20
X 29 -9 Y. -5y 20
2.0 L\&Zog 01 Y7 TRx L\@




October 29, 2018

_Y\GFQ o> ec‘mdgows

when  the Kwneav
eqpuation  has 1 Buation  ts
N Called,
exactly owe Solutiov Coﬂo\\"rcom\

‘.“g“\\.h\a W\G“S 80‘\!1‘\-0!45 1 AQ“*\‘T‘J
No Solutiow l Cow*m”

To deyevmne Yhe *nee of
equalion —p Fwrsy Sowe

De¥ernuine  the Jra\)e N QC‘\\JG\AY\'OV\

D 3x —1) a4= x —21
5% =22

6X -3 +4:- x-21
X:% Conc)\' Yonal

6')( -X = -21-1L

2) 23X +S) - 2x 4% =4(X +3) + 6
6X 10 -2X A% =4X R4 [PIX-4X=18-18
QO =0
X 419 = 94X+ Tvue » 1.N.0.S.
1c\ev.‘n‘3rn

—
3) 5(%—2%x) A4 (3x x5) =2x =35

'S —10X y12%x +20= 2Xx-35 alse » CD
v
% 35 :}(—3‘5 CO“\(&A\‘Q\‘\'()V\
/\/

25= —5%5




October 29, 2018

g\\r\a\ e Yoo oS 2.9 1o .
2.5 2.5 _ 25 :\3 5Sh6 , 5:b
3 3((0) 20 §
2L £
AVsN S PVO?W‘“QV) oV W\OT?‘ = ?: <
o2 =3
%) R
V.2 £o02.3
S5 =233
n.23%83 _»1-=
357358 > 1 =1/
So\ue,
@ ﬁ: ;3/ _—-2‘1 @ QC~?)_ 2,
— x="<1 _ oL
'S ) > X2 9D
5x = §(-3 —
ox = ¥ (x--43] 3 (x-2) =2(X+2)
SX=-24 1—“‘%}
. 3X = 2x Y
@ dx+1 _ 3 oy iy 248
4x-s f |
x=13
4 (3% +1) =3(4x-5) ol
12X 44 = 42X 15
4=-\5
Jalse —p QZ)




October 29, 2018

/Qo\\)\ ?wU\’Veé\ 3 YooOWmS iw %AO\\{S.
At W vote, how YY\OkY\\g vooms oS The Same
Aays® ? ound Lp

\«\S?Q Cawn e PO\H\.}Y in 20

Yooy ans oo whole 2.

So\vQ,
m - X EOOW\S é“ 2<~
< Days 20 Da\s € 20
RYX =3 (20)
AbouY X Roowms <X =60
x - &9
R
xX= 1.5

ANS owm NS Sov 250 wul\es own The Mo
The Qc&uu\ o\\'Son\V\(C \leYwe.QV\ fwo O{Jh‘es VS

1000 wu ks, ew Sax cx‘barjv ave They on the

. X Cw
W\o\%ﬁ 145w ‘
250 wmx\es 1000 M \es
So\\l@ ]
———//1'—(5 | X ™ X= ‘M
250 1000 250
K=lasl
250 X =115 00o) S pardh

x="1




October 29, 2018

Aw NIFL QQ\JW)YQ\)&CK tows 2 ix\’(ewr&‘)’rs Sov
e\m\é 4G Passes.  How W\odx‘& \"n‘Vwce‘)‘rs shoold

W e ex?Q(JY in & \GQO“[ wher Ne 1S Wlo\\cfng

500 ‘PQSSQS?. . I G T
45 Passes 500 Passes
L x W5x = 2(500)
— -
45 o9 X - (000 x =22.2
45

Q bO Vv ‘\ 2,2 \ y\\‘g\/ CQP‘\‘\'OV\S

whet i 47 oy 500°¢
W\.}

Pt

_ 4, P fed
ST 500 00 whole

— 4 X
£ A0 100 500
. (508

00

=20




October 29, 2018

6/ oS (whoéy) 'S Q00°¢

b .y 00
100

.06 X =900

00 -
x: — :‘5000
06 &

6/ oS 15000 vs S00.

N

El _ Pt
\0Q whole
6 00
00 X
6x = 100(800)
50 30
.0 (5\’00%
.
\2( :lS’OOOI




October 29, 2018

Pevi 5 o veal estate %gtvfr-
de ¢/ oS a Sale o $250,000.

Ne wa

how W\UCV\ Wwas s Comm(&s\‘ow?j

o) SO\\C"/,

His Commysston 'S 6/.
\/’\/? @—/
x oz & oasoo\eé
PO
- ((2500) = 190 OO

S000.
\4\‘5 Comwission  Wwas X

Mo Scovedd 8C/ oS o Test with

35 OKUQ_SJR‘OVLS. How W\cm\a Covrect answey’

A\‘C}\ S\r\Q t)e‘?

Kol Covrect QNS 'S ‘6‘(/. 0y 35
e - - = —

€6 |39
(00

- .%6C 35)

aboul 31

= 30.
0 Covvecll QNS

10



October 29, 2018

TV s warked @¥%00.
1 {5 ow Salt @ 25/ oSY.

@ Awountt og‘ Ais(ounjr

@ Seling (Aiscounted) Prce

Discoont Pt _ s/ oS

Sele's Fax g %.5_/‘ 0 Se\\ma Prre .

Poxono. S \w\{iy\a thys VW

Rwgont oF  Mscound = 25/ oS ?ea.?n'(e,

- .25(%00)@

- .15 (%00) ;l‘& 600\

@ Aempunit oS ix
@ Totel Cost:

EQZ‘] Prire

Sle's fax = .5/ 03 SQ\\MS Price

L 0%5 (600)
- % 5L

Total cosi :Se\\'\v\a Price

:i$65\ l

Y AW\OUVd og Jrax

1"



October 29, 2018

O Solve Sov b ﬂ:%

Ledp =2 \ﬁ
aﬂ:é ==
on-bn

Divede \03 h

op _ B b

N By

2A

n

Guiven, D% —5Y% =5

Q) Sind QA when X 5 Q.

’5( D)‘ Sn -—-\5 _SZS:—\__S
A5 (953
§) ’SH:-\S -S

b) Siwd x when Y e O.

AX —‘5(0)—_—‘\5 ?(:jé
3
22X — 0 = -\5% jb
X=-5

33X = —\3

12



October 29, 2018

Pl ™ oY & H\O\V\ S +i'¥\€5 Some Y\UW\\DQ/
'S eovvo\\ AV Hae  muowmber ve duced Lg RY

find The momber:
Leb X b ke numbey
x4V =X —\D
Ix =X = -\3 -\
2x=-20
X=-10

The nomber s

4 diees The AvFrevene oF  Some mombe
cnd 5, inoveased by 20 Ts Sl 15
6 Hmes Yhe number, Find Tl mombeyr
Leb X be Yhe mombey,

H(X ~‘5> 20 = —bX

Gy 26 420 - —6X

4% +6X%x =0
(ox =0

_ 0
X':O

—\\1Q wow hey S
O.




